CAS

1 minata = 60 sekund
1l min = 60 s
1 hodina = 60 minut
lh = 60 min

2 min = s 1l min = s |5 min = S
6 min = s (3 min = s |7 min = s
8 min = s 9 min = s |4 min = s
240s = min (540s = min |480s = min
420s = min |(180s = min |360s = min
300s = min 60s = min |120s = min
2 h = min |1 h = min |5 h = min
6 h = min (3 h = min |7 h = min
8 h = min (9 h = min |4 h = min
240 min = h (540 min = h (480 min = h
420 min = h (180 min = h (360 min = h
300 min = h 60 min = h (120 min = h
4h 12min = 365 min = h min

2h 48min = 498 min = h min

5% h = min (S

6% h = min s
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